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Q.1 Write a Précis of the following __um«wmmm. suggesting a suitable title: (20+5=25)
One of the fundamental facts about words is that the most useful ones in our

language have many meanings; That i v why _ :
, _ gs, That is partly why they are so useful; they work overtir .
Ihink of all the various things we mean by w‘- N e 4 e T fm,ﬂx_ﬂ‘.___m&gm_ -~ 3

*_1

.Em mﬁ:_.. m..mgc#;.ml_.mmﬂ

e —————

_oimn mx:.mBEmmc___m__::Bm_a.. uoa%nmhﬂmmm:_,m o*._-___,wm. _
inches, the floor in front of the stair. The same I true of nearly every COmmMOoN Noun or verb.
Considering the number of ways of taking a particular word, the task of speaking
clearly and being’ understood would seem pretty hopeless if it were not for another very
important face about language. Though a word may have many senses, these sensescanbe
controlled, up to a point, by the context in which the word is used. When we find the word in &
particular verbal setting, we can usually decide quite definitely which of the many senses of
the word is relevant. If a poet says his verse has three feet, it doesn't occur te you that he
could mean it's a yard long or is three legged (unless perhaps you are a critic planning to
puncture the poet with a-pun about his “lumping verse”). The context rules out these Bmemnﬁ!_
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improve your hand writing and presentation ethics : LY,
main idea is picked and discussed but sentence structure needs improvement *:
be precis and to the point 0
and read the passage carefully |,
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Q.1 Make a Jﬂmn,m of w:m_ ?.ﬁiﬁm passage and suggest a suitable title: (2045
af "W L

r,ramﬂm, :.5? hees labour not only by enervating the labourer or by _:c_moﬂmﬂsu

but also by the effect it produces on the regularity of his habits. Thus we find that no pee

iving in-a-very northern latitude has have ever _uommmmmma that steady and unfii

_3QLn?< ‘or which the inhabitants of temperate regions are remarkable. In_the more narthar:

countries, the severity of the weather and at some seasons, the efficiency of light wmnamﬂ

_B,m.owm_gm 8_, I the people to continue their usual out of door employment. The result is {

the working tlasses being compelled to cease | from their c&_:mQ pursuits, .Mh._.m:.m?d

prone to ummL_SQ nabits, the chain of their _Scmﬁé _m as it é,mﬁm broken and they lose that

e e e .

ﬁﬂvmﬁrm which16ng Continued and uninterrupted practices never fails to give. Hence there:
QiSES a national character more fi Itful and capricious than that possessed Dy a people i:am.,

.
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gie permits the e regular exercise of their ordinary Sn_cmS.ﬁ Indeed so powerful is Eﬁ
e th tha We perceive its %m_.&_o:m ey d:a%.. most opposite circumstances. I

Bt
1A

ifficult fo conceive @ greater difference in _government, laws, religions, and

|..r-..|
1.

...._

1, B mﬁ which o._mw:mc_m:mm Sweden m:a za%@ On the one hand. from mvm.w___w__
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P Portugal on the other. But these four countries have one qQ

L Mz

- L _4 | feat™ ot n . common. In 21l Q
- inueg agrcultural \ndustry is mpracticanie. in the two southern countries _RDoUT §

ETUpied Dy the dryness of thé weather and by the consequent state of the <ol 1n the

thern countries. The Same afect & tens ONROTMEN -

e ma M _.,,.H MLOWM, 0 m...ﬂ Nﬁ € _eftect is_ produced by the seventy of fhe winter and we
- o L M@ﬁﬂ € consequences are hat these four nations, though so different n
e ﬂm:,.ﬁmﬁwmgw 10r a centain \nstabdility and fickleness of character
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~ | precis does not justify the context of the
| main passage use simple words in precis
~ ' andiast partisincoherent —
_ __need improvement in all aspects
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